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NOTES: Section 10.5 & 10.6 - Factoring x> + bx + c and
Factoring ax? + bx + ¢

“- 5 'o . "’i l\\
Goals: #1 - 1 can factor trinomials in the form x? + bx + ¢ 5\3, oo O

#2 - 1 can factor trinomials in the form ax? + bx + ¢
#3 - | can solve quadratic equations by factoring

Homework: Section 10.5-6 Worksheet

Notes:

To factor a ﬂ\nﬁmlw , it will be the product of two Y)\ﬂ(\ [nl(“%

We look for ‘\’\l\m numbers that multiply to (L(, and add to h .
6dd 10

ax2+gx+c _ |
wiboee ()
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EXAMPLE: Factor the trinomial.
x2+6x+8 (L(‘_\%- %
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Example #1: Factor the trinomial.
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You practice: Factor the trinomial.

L_x*+417x~18 &= V:-1¥= 1%
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K (x +19)-1(x +1%)
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EXAMPLE: Factor the trinomial.

1. x*=5x+6

_2_x2 + 11x +
Q

7x(x19)+

Hour:

Date:
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Example #2: Factor the trinomial.

Lgesaess R0T0N9 ) 262t -2y
et D e e
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(G- W2x -3) (x1D[ox-4)

You practice: Factor the trinomial.

1 2x* +5x+2 721 = Y4 2.§x2—_14x+j Y = 24
1r 2 ﬁﬁ
Y X" -2 -2 x t }
LN+l s RA S
Zx(x%\ﬂ(xM) ox (x-2) ~ Z(X )
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Name: Hour: Date:

To solve a quadratic equation, we could fﬁl&‘zh or use the (l&}“!h&“& EQ”IN\&.

Another way to solve a _ﬂ‘\) &aV&hL equation, is by %\ & ULO r , ng

» First, we set the equation equal to Z QY 0

YATOR o

o Usethe Z YP to solve for the variable.

7 7010 ProdOCH  progerty

Example #3: Solve the quadratic equation by factoring.

13-
1. x2-3x=10 \' 10 = -1b 2. =3 =2x*+7x N\
10 10 ,‘A +9 v (ot )
S LI M 02 4 +2
AT-5 -10 =0 612&:@(\”—51 5
< (x-5)+Lx-5) =0 O'— 2UXt3) v1(x+3)
% -9(X41)=0 0= Lo (2x1)
Y-5-0 7 — X +=0 Xt3-0" A A0
\d\'ou practice: Solve the quadrat by factoring. K/j‘ '\)( '__'/Z \
1. —4=x?-5x o 2.4x3+7x=-3 . -
Y Y \L‘/L}\ £3 43 \J/\\iz
0-x*-5x ¢y Q1D X e Ixr 3-0 A

:erLf ”Mflxk)x*ﬁ 0
XD -H(x- 1) (% +1) + 3 (X 41)=0

0= (x-D(x-4) D) L\Xu) 0
I"’Q/ — x-4=0 Y\)i\ 0(/ Nt 570

x=1) [x=4] K=o X %)
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